0-B pressure (hPa) for identifier 16524
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0-B pressure (hPa) for identifier 16529
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0-B pressure (hPa) for identifier 16556

Mumber of obs. plotted =136 MNumber of outliers
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0-B pressure (hPa) for identifier 16587
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0-B pressure (hPa) for identifier 16604
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0-B pressure (hPa) for identifier 16954
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0-B pressure (hPa) for identifier 17178
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0-B pressure (hPa) for identifier 17519
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0-B pressure (hPa) for identifier 17666
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0-B pressure (hPa) for identifier 21513
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0-B pressure (hPa) for identifier 21898

Mumber of obs. plotted =112 Number of outliers
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0-B pressure (hPa) for identifier 23451
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0-B pressure (hPa) for identifier 2AJI3

Mumber of obs. plotted =184 Number of outliers
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0-B pressure (hPa) for identifier 33660

Mumber of obs. plotted =145 MNumber of outliers
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0O -B pressure (hPa)
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Mumber of obs. plotted = 2319 Number of outliers = 107
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0-B pressure (hPa) for identifier 33967
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0-B pressure (hPa) for identifier 3SEHTE
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0-B pressure (hPa) for identifier 46639
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0-B pressure (hPa) for identifier 48535
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Number of outliers
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0-B pressure (hPa) for identifier 48655

Mumber of obs. plotted
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0-B pressure (hPa) for identifier 48685
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0-B pressure (hPa) for identifier 56505
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0-B pressure (hPa) for identifier 62138

Mumber of obs. plotted =160 MNumber of outliers
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0-B pressure (hPa) for identifier 62516
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65 Number of outliers

0-B pressure (hPa) for identifier 63665

Mumber of obs. plotted
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0-B pressure (hPa) for identifier 7854
Number of outliers

Mumber of obs. plotted = 101
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0-B pressure (hPa) for identifier SPPK
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0-B pressure (hPa) for identifier 9YDN3

Mumber of obs. plotted =102 MNumber of outliers

=0

S50

&
o e
£

- BOME0SE

- BYE0E L

- BOMA0NL L

- BOME0FD

- BYS0YEC

- BOVSOYLE

- BYS0AF L

- BOSS0SA0

- BOFOVOE

- BVFLVED

- BOFOYS L

- B FOYEN

- BOSFOYCO

- BOVEDYEC

- BVEDVE L

- BOVEDVE L

- BVELYS0

- BOAZOAC

- bOCOvE L

- BVELVC L

- BOACOYS0

- B0 L OYeD

- B0 LOVEC

e

- B0 LOYE0

15

10

{edu)aunssaad -0

-10

A0 LOSLO

iy
—
1

Time




0-B pressure (hPa) for identifier SYKQ3

Mumber of obs. plotted =155 MNumber of outliers
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275 Number of outliers

0-B pressure (hPa) for identifier ABATS

Mumber of obs. plotted
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50 Number of outliers

0-B pressure (hPa) for identifier ABETY

Mumber of obs. plotted
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0-B pressure (hPa) for identifier ABIQ2
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0-B pressure (hPa) for identifier ABITE
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70 Number of outliers

0-B pressure (hPa) for identifier ABJRS

Mumber of obs. plotted
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0-B pressure (hPa) for identifier ABJVT
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0-B pressure (hPa) for identifier ABLCS
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0-B pressure (hPa) for identifier ABMGE
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0-B pressure (hPa) for identifier ABP0O4

Mumber of obs. plotted =143 Number of outliers
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329 Number of outliers

0-B pressure (hPa) for identifier ABPQ8

Mumber of obs. plotted
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0-B pressure (hPa) for identifier ATSJ

Mumber of obs. plotted =102 MNumber of outliers
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0-B pressure (hPa) for identifier AUBD
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0-B pressure (hPa) for identifier AUBL
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0-B pressure (hPa) for identifier AUFI
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Mumber of obs. plotted
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0-B pressure (hPa) for identifier AVOSTEST
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0-B pressure (hPa) for identifier C6FVE

Mumber of obs. plotted =119 Number of outliers
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0-B pressure (hPa) for identifier C6FYS

Mumber of obs. plotted =198 Number of outliers
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270 Number of outliers

0-B pressure (hPa) for identifier C6LU3

Mumber of obs. plotted
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0-B pressure (hPa) for identifier CEQF6

Mumber of obs. plotted =142 MNumber of outliers
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0-B pressure (hPa) for identifier C6SEB

Mumber of obs. plotted =128 Number of outliers

=0

%o

- BOME0SE

- BYE0E L

- BOMA0NL L

- BOME0FD

- BYS0YEC

- BOVSOYLE

- BYS0AF L

- BOSS0SA0

- BOFOVOE

- BVFLVED

- BOFOYS L

- B FOYEN

- BOSFOYCO

- BOVEDYEC

- BVEDVE L

- BOVEDVE L

- BVELYS0

- BOAZOAC

- bOCOvE L

- BVELVC L

- BOACOYS0

- B0 L OYeD

- B0 LOVEC

e

- B0 LOYE0

15

10

{edu)aunssaad -0

-10

A0 LOSLO

iy
—
1

Time




0-B pressure (hPa) for identifier CETX6

Mumber of obs. plotted =100 MNumber of outliers
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0-B pressure (hPa) for identifier CEVF3

Mumber of obs. plotted =139 Number of outliers
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53 Number of outliers

0-B pressure (hPa) for identifier C6YW

Mumber of obs. plotted
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0-B pressure (hPa) for identifier CG2960
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0-B pressure (hPa) for identifier CGDS
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0-B pressure (hPa) for identifier DNFA
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Mumber of obs. plotted
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0-B pressure (hPa) for identifier ELX03

=0

=72 Number of outliers

Mumber of obs. plotted

- BOME0SE

- BYE0E L

- BOMA0NL L

- BOME0FD

- BYS0YEC

- BOVSOYLE

- BYS0AF L

- BOSS0SA0

- BOFOVOE

- BVFLVED

- BOFOYS L

- B FOYEN

- BOSFOYCO

- BOVEDYEC

- BVEDVE L

- BOVEDVE L

- BVELYS0

- BOAZOAC

- bOCOvE L

- BVELVC L

- BOACOYS0

- B0 L OYeD

- B0 LOVEC

e

- B0 LOYE0

15

10

L} -

{edu)aunssaad -0

-10

A0 LOSLO

iy
—
1

Time




0-B pressure (hPa) for identifier HPNY
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0-B pressure (hPa) for identifier HPYE

Mumber of obs. plotted
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0-B pressure (hPa) for identifier HRRF
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0-B pressure (hPa) for identifier HZZD
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0-B pressure (hPa) for identifier ICRA
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0-B pressure (hPa) for identifier MINUKOZ
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0-B pressure (hPa) for identifier MEWF2

Mumber of obs. plotted =144 Number of outliers
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0-B pressure (hPa) for identifier ONCA,

Mumber of obs. plotted =155 MNumber of outliers
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0-B pressure (hPa) for identifier ONCF
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0-B pressure (hPa) for identifier ONEH
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0-B pressure (hPa) for identifier ONEY

Mumber of obs. plotted =165 MNumber of outliers
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0-B pressure (hPa) for identifier OUOW2
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0-B pressure (hPa) for identifier OYAUZ2
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0-B pressure (hPa) for identifier OYNM2
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0-B pressure (hPa) for identifier PBAD
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0-B pressure (hPa) for identifier PBCJ

Mumber of obs. plotted =150 Number of outliers
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0-B pressure (hPa) for identifier PHFY
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0-B pressure (hPa) for identifier UBHES
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0-B pressure (hPa) for identifier UCUF

Mumber of obs. plotted
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0-B pressure (hPa) for identifier UFCK
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0-B pressure (hPa) for identifier UGW.J

Mumber of obs. plotted
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0-B pressure (hPa) for identifier UHWZ

=9

=56 Number of outliers

Mumber of obs. plotted

G P

g

- BOME0SE

- BYE0E L

- BOMA0NL L

- BOME0FD

- BYS0YEC

- BOVSOYLE

- BYS0AF L

- BOSS0SA0

- BOFOVOE

- BVFLVED

- BOFOYS L

- B FOYEN

- BOSFOYCO

- BOVEDYEC

- BVEDVE L

- BOVEDVE L

- BVELYS0

- BOAZOAC

- bOCOvE L

- BVELVC L

- BOACOYS0

- B0 L OYeD

- B0 LOVEC

e

- B0 LOYE0

15

10

O

{edu)aunssaad -0

-10

A0 LOSLO

iy
—
1

Time




0-B pressure (hPa) for identifier UISD
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0-B pressure (hPa) for identifier UITR

Mumber of obs. plotted =145 MNumber of outliers
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0-B pressure (hPa) for identifier ViBW6
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0-B pressure (hPa) for identifier ViBWS
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0-B pressure (hPa) for identifier V7DIS

Mumber of obs. plotted =103 Number of outliers
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0-B pressure (hPa) for identifier VIHP2

Mumber of obs. plotted =123 Number of outliers
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0-B pressure (hPa) for identifier V7. JM2
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0-B pressure (hPa) for identifier VCDT
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0-B pressure (hPa) for identifier VRBW4
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0-B pressure (hPa) for identifier VRDN3
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0-B pressure (hPa) for identifier VRWETY
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0-B pressure (hPa) for identifier VTST
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0-B pressure (hPa) for identifier VTXG
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0-B pressure (hPa) for identifier VW3SZ

Mumber of obs. plotted
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0-B pressure (hPa) for identifier WBN5S982
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0-B pressure (hPa) for identifier WCZ6534
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0-B pressure (hPa) for identifier WDA3355
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0-B pressure (hPa) for identifier WDC8307
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0-B pressure (hPa) for identifier WDD4207
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0-B pressure (hPa) for identifier WED2281
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0-B pressure (hPa) for identifier ZCBOG6
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0-B pressure (hPa) for identifier ZCDT7
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